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FEANER G N 1 8,247,294
3 T E T VB 77t 82.11
3 RITAREE T NAERK km 1.22
Bk = 1
TEERET  BRETETE km 1.11
TEEERET MRS km 1.11
EHERET  TmE XER km 1.11
EHERET THAEK  CFmEXER km 0.39
TEEERET  REWTIX{ERR km 1.11
BT THHEK  HEETXER km 0.39
THKER R AEERENT YRR P 4
TEERET  RAWTIX(ERR (i) km 0.08
AT R (S BERE) km 1.03
TEPEKER R CRAEE REWTEERR (BT ) km 0.39
EHERET  THEER km 1.11
TEMERET FHHEKERE km 1.11
EHERET HEFE (H—Wrim) km 0.08
TEMERET BESHE (OBENTE) km 1.03
EERET THHER EHE OEEMIE) km 0.39
Tiaxat A 1 1,714, 603
FRGE AR R ARRERD km 4.05
JHRBLREE R B AR R km 1.11
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JAHLREE RGBSR & 1
B8 TR ah
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TRHERKERE B km 0.32
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SEANER G Y 1 11,975, 703
b oV ket EREFEFE (PEIL R poL) = 1
b povERE BREEHE (BEA R xy) = 1
b xVERE BRELETE (REUE b xL) = 1
hrxpovERE FmKESR (LR RL) 2V 1
hrxovERE FhKER BA b rL) 2V 1
hrxovERE FRIKESR (BEEE N oRL) = 1
by v ExEt  HERTETERR km 2.83
b VERE B MW VR km 2.83
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b > R EVERR =K 1 889, 408
b xovERE BIPTEREE ARG (L b oxoL) =K 1
b EREE BIPY TEEEE WISURET (B b xb) =K 1
b xoVEREt BIPTEREE ARG EJE L xL) = 1
FARFHG = 1 365, 248
b VERE KA MAEOREE (FHL ko x) = 1
T OfhFEE = 1 2, 340, 000
b xoVERE RERMIBAMERR B SRR AL E A kX 4 9
hrxoVERE REMIRMERR FHRILX 54 6
EREHT A
aatiT et N 1 1, 362, 600
AT A =, 1
HA S - BT
HAN S - HBERE = 1 310, 895
BEdy TRRE EREG B (K> 7 2 H 03— REEED =X 1
BEME TR (ZWRCF EMAEHT) = 1
A5 - HY - AR = 1
Z O 2V 1 17,199, 673
— R B =K 1 26, 627, 182
il N 1 76, 080, 000




